
Moderate Functions

Absolutes

Absolutes X-Axis Intercepts

1 .  x − i n t e rcep t s  |x |

2 .  x − i n t e rcep t s  f x = |2x |

3 .  x − i n t e rcep t s  2 |x |

4 .  x − i n t e rcep t s  2 |x | − 1

5 .  x − i n t e rcep t s  − 2 |x |

6 .  x − i n t e rcep t s  − 2 |x | − 1

7 .  x − i n t e rcep t s  |x − 1|

8 .  x − i n t e rcep t s  |x + 1|

9 .  x − i n t e rcep t s  |x − 4|

10 .  x − i n t e rcep t s  2 |x − 4|

( )



 

Answers

Moderate Functions

Absolutes

Absolutes X-Axis Intercepts

1 .  0 ,0

2 .  0 ,0

3 .  0 ,0

4 .  − 2

1

  , 0 , 2

1

  , 0

5 .  0 ,0

6 .  N o n e

7 .  1 ,0

8 .  − 1,0

9 .  4 ,0

10 .  4 ,0
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